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Note: {1) This Question Booklet contains 40 Multiple Choice Questions

followed by 10 Short Answer Questions.
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Attempt as many MCQs as you can. Each MCQ carries 3 (Three)
marks. 1 (One) mark will be deducted for each incorrect answer.
Zero mark will be awarded for each unattempted question. If
more than one alternative answers of MCQs seem to be
approximate to the correct answer, choose the closest one.
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Answer only 5 Short Answer Questions. Each question carries
16 (Sixteen) marks and should be answered in 150-200 words.
Blank 5 (Five) pages attached with this booklet shall only be
used for the purpose. Answer each question on separate page,
after writing Question No.
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01. Which one of the following is not a kharif crop ?
(1) Paddy (2) Maize
(3) Mustard (4) Arhar

02. Select the crop, which is used for green manuring :
(1) Daincha (sunhemp) (2) Sugarcane
(3) Tobacco (4) Onion

03. Panama wilt disease is found in :
(1) Papaya (2) Mango
(3) Peach (4) Banana

04. Osmotic expansion of a cell kept in water is chiefly regulated by :
(1) Ribosomes (2) Mitochondria
(3) Plastids (4) Vacuoles

05. Community Development Programme was started in :
(1) 1952 (2) 1965
(3) 1957 (4) 1960

06. Food grains have :
(1) Inelastic demand (2) Elastic demand
(3) Perfectly elastic demand (4) Perfectly inelastic demand

07. The disease "ricket" in animal is caused due to deficiency of :
(1) Vitamin A (2) Vitamin B
(3) Vitamin C (4) Vitamin D

08. For comparing the variability of the two series, which one of the
following measures is used :

(1) Standard Deviation (2) Mean Deviation |
(3) Range (4) Coefficient of Variation
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109,

10.

11,

12.

13.

14.

Which one of the following is an anticoagulant :
(1) Heparin _ (2) Interleukin
(3) Plasmin (4) Lymphokine

The fertility of soil is reduced by :
(1) Alternate cropping (2) Intensive cropping
(3) Nitrogen fixing bacteria (4) None of the above

The variance of first n natural numbers is :
(1) (m*>+1)/12 (2) (m+1)?/12
(38) (n?-1)/12 (4) (2n*-1)/8

De-Morgan's Law says :

(1) AFB =AUB @ (A)=a

A
(3) A-B=ANB (4) (AUB) UC=AU (BUC)

If X ~ exp (5), the probability density function of X is :

(1) 5exp (-5x) forx>0 (2) 5exp(x)forx>0

(3) exp (-5x) forx >0 (4) 1/5exp (-5x) forx >0

If X ~ N(O, 1) and Y ~ X?/n, the distribution of the variate x/ J;
follows :

(1) Cauchy's distribution (2) Fisher's t-distribution

(3) Student's t-distribution (4) Gamma distribution

5 P.T.O.
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15. Factorization theorem for sufficiency is known as :
(1) Rao-Black well theorem (2) Crammer-Rao inequality

(3) Chapman-Robins theorem (4) Fisher-Neyman theorem

16. Bacterial clustering or contagion leads to :
(1) Binomial distribution
(2) Negative Binomial distribution
(3) Polya's distribution

(4) Poisson distribution

17. In the usual notations, R?,, can be expressed as :
(1) Rip= 1-(1-53)(1-13,)
(2) Riz= (1 ~1,) (1-15,)
B) Ry (l-ré)(l—r.“;z)
4 Rin= 1-(1-53)(1-x,,)

18. Reduction in the size of the test results into :
(1) decrease in its power
{2) increase in its power
(3) no change in its power

(4) decrease and increase both in its power

19. Sum of products of two standard normal variates is :
(1} Hotelling T2 {(2) Wishort distribution
(3) Multi variate normal (4) X2-distribution
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- 20. In case of study of fishes in big lake, better sampling scheme is :

21.

22.

23.

24.

25.

(1) SRSWOR (2) SRSWR
(3) Strati fied Random (4) Cluster

Given population of size N, if n units are deleted and n' units are
added, then probability of selection of any unit at a specified draw is :

1 1

1) N+n'-n (2) N+n-no
_ B N
B} N+n'-n ) N+n'-n

The discrepancies between sample estimate and population param-
eter is termed as :

(1) human error (2) formula error
(3) non-sampling error (4) sampling error

Systematic sampling means :

(1) selection of n largest units

(2) selection of n middle units in a sequence

(3) selection of n contiguous units

(4) selection of n units situated at equal distances

The range of Kendall's rank correlation coefficient T is :
(1) Otol (2) Oto
(3) -1ltol (4) — o to ®

Which one is an ordered estimator ?
(1} H-T estimator (2) Des Raj estimator
(3) Murthy estimator (4) Neyman estimator

7 P.T.O.
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26.

27.

28.

29,

For the product estimator y_; to be more efficient than the sample
mean y, , the condition is :

1 €

<_ X

n P3¢

2 Pt

@ P3¢

@ P3¢
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) 2 C,

Efficiency of cluster sampling increases if :
(1) 5§, decreases
(2) &, increases
(3) 3, increases

(4) §,’ decreases and g’ increases

The d.f. due to various sources of variation in ANOVA model should
follow the :

(1} Probabilistic law (2) Multiplicative law
(3) Additive law (4) Exponential law

In mxm LSD, the error d.f. is equal to :
(1) (m-1)(m+1) (2) m(m-1)
3) (m-1)(m-2) (4) m(m-2)
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30. A set of parameters of BIBD is :
(1) v,b,r.A 2) v,bk 2
(3) wv,brk A (4) v,b,Ak

31. In 22 factorial experiment, the contrasts A, B and C are :
(1) Non orthogonal to each other
(2) Orthogonal to each other
(3) Linearly related to each other

(4) Exponentially related to each other

32. A progeny row trial is carried out in a sample :

(1) CRD (2) RBD
(3 LSD (4) Split Plot Design

33, Compact Family Block Design is analogous to
(1) RCBD 2) LSD
(3) Split Plot Design (4) Strip Plot Design

34. Ina5x5LSDwithone missing value, the total of oW, column and

.

treatment having the missing value are 25, 40 and 35 respectively
and the total of all the available information is 100. The estimate of

the missing value is :
(1) 15 (2) 20
(3) 25 4y 35

9 P.T.O.
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35.

36.

37.

38.

39,

40.

For Cauchy distribution, consistent estimator of the population mean
is :

(1) sample mean

(2) sample median

(3) sample mean and median both

(4) neither sample mean nor sample median

Which of the following is a contrast ?
(1) 3T, +T,- 3T, + T, (2) T,+3T,~ 3T, + T,
(8) -8T,-T,+ T, +3T, 4) T, +T,+ Ty—T,

If the interactions AB and BC are confounded with incomplete blocks
in a 2" factorial experiment, the automatically confounded effort is :

(1) ABC (2) AC
(3) A 4) C

In RBD, with 4 blocks and S treatments with one missing value, the
error d.f. will be :

(1) 12 (2) 11
(3) 10 4) 9

For percentiles, the total number of partition values are :
(1) 10 (2) 59
(3} 100 (4) 99

Which one of these is not used for statistical analysis ?
(1) SAS (2) SPSS
(3) SPAR (4) ORACLE

10
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Short Answer Questions

Note : Attempt any five questions. Write answer in 150-200 words.

Ol.
03.
03.
04.

0b.

06.
07.
08
09,

10.

Each question carries 16 marks. Answer each question on
separate page, after writing Question Number.

Discuss in brief contrasts and orthogonal contrasts.

State Neyman-Pearson Lemma and give its utility.

Discuss in brief the Duncan's Muitiple Range Test.
When is a classification called nested or hierarchical ?

(a) Give the advantages of Split Plot Design are Randomized Block
Design.

(b) Explain in brief Principle Component Analysis ?
Discuss the general approach of Likelihood Ratio Test.

Give the concept of a Life table and write on what assumptions or
factors is the construction of life table based ?

What is the difference between secular trend and cyclic variation in
time series analysis ?

Give the formulae estimates of mean and variance in case€ of two-
stage sampling.

Explain the factor reversal test in Index Number. Also write about the
criteria of good index number.

11 100



RET/14/TEST-B 745/Agricultural Statistics

Question No. Page for Short Answer
g9 T g SelE B g gs

12



RET/14/TEST-B 745/ Agricultural Statistics

Page for Short Answer
g Sodd ® e IS

Question No.
g¢ &I

13 P.T.O.



RET/14/TEST-B 745/ Agricultural Statistics

Question No. Page for Short Answer
g9 He WY ST ® e g

14



 RET/14/TEST-B ' 745/ Agricultural Statistics

. Question No. Page for Short Answer
o EE il ' @y Swig @ W 7o

15 P.T.O.



10.

11.

12,
13.
14.

R & ferg Frdr
(myﬁm%mmwwmm-w%awmw
- mm-wW-mx‘ae:wma)
mmmﬁ%loﬁwﬁwﬁé@ﬁﬁmﬁwWﬂsﬁ%ﬂhaﬁf
mwwmgﬁaﬂﬁmmﬁmﬁmmﬂwmmﬁm&éﬁw

IT-TX SEPT R/ oy may ¥R 7o ag 7 8 R w5 ¥ 3T-aw ot ear o
&mm-wmﬂmﬁwm:

mmwm-wwmmm-wwhﬁﬁﬁﬁamwmi
m—w%mwwh#mmmmwﬁﬁm#ﬁ#gﬁ#
W & m—wwmﬂmm~gﬁmwmmﬁewrmaﬁvm'



